RMA - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Horizontal Slider\FL-16092.7-.9.dwg, FL-16092.8

™

wR
WINDOWS & DOORS

250 Staunton Turnpike, Parkersburg, WV 26104

8800 Series ("HVHZ")

Vinyl Horizontal Sliding Window

"IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 2010 Florida
Building Code (FBC) structural requirements including the "High Velocity
Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor
embedment fo base material shall be beyond wall dressing or stucco.

When used in the "HVHZ", this product complies with Section 1626 of the FBC
and does not require an impact resistant covering.

For 2x stud framing construction, anchoring of these units shall be the same as
that shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

This product meets the water infiltration requirements for the "HVHZ".

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevations, design pressures and general notes

Horizontal cross sections

Vertical cross sections

Buck and frame anchoring

Components

O~|n|a|W b —

Bill of materials & glazing details

112" MAX, O.A. FRAME WIDTH

50.5" MAX, D.L.O, WIDTH

63" MAX. O.A. FRAME HEIGHT

55" MAX. D.L.O. HEIGHT

813.659.9197
[(FSC (a2.3

P.O. Box 230 Valrico FL. 33595
Lyndon F. Schmidt, P.E. No. 43409

BUILDING CONSULTANTS, INC.
Phone No.:
Florida Beoard of Professional Engineers
Certificate Of Authorization No. 9813

Ry

Documents Prepared By:

8800 SERIES
TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PART OR ASSEMBLY:

PRODUCT:

112.0" X 63.0"

XOX SHOWN
XXX ALSO APPROVED

50.5" X 55.0"

G2

+60.0

-65.0

REVISIONS

NO. DATE

DATE: 4/08/13

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—16092.8

SHEET 1 oOF 6

© 2013 R.W, BUILDING CONSULTANTS ING.



RMA - Projects\Project Folders\Proj 1601 - 1700\PF 167 9\Horizontal Slider\FL.-16092.7-.9.dwg, 2.8

1-1/4" MIN.
EMB. (TYP.)

N
]

2 G1)G2

/
Vi Vi

¥/
[/

\2/ v O X
52 ;
i / s /
\2/ 4 ya ’ V4
>
1-1/4" MIN,
EMB. [TYP.)

/"1 \ HORIZONTAL CROSS SECTION

7”4\ HORIZONTAL CROSS SECTION

w Shown w/ 1X buck

L 1-1/ATMIN
=t EMB. (TYP.)
INTERIOR
G1)(G2) INTERIOR D (73
—/)
[
5 9 U R
4
16 5 G1)1G2

EXTERIOR

/"2 "\ HORIZONTAL CROSS SECTION

w Shown w/ 2X buck

2 G11G2

F/d
I/

7”3 \ HORIZONTAL CROSS SECTION

\2/

W Shown direct to masonry

L{- 'Z.lvfj

Authorization No. 9813

9\

P.C. Box 230 Valrice FL. 33595
Lyndan F. Schmidt, P.E. No. 43409

Phene No.: B13.659.9197

BUILDING CONSULTANTS, INC.
Florida Board of Professional Engineers

Documents Frepared By

Certificate z

8800 SERIES
HORIZONTAL

PART OR ASSEMBLY:
CROSS SECTIONS

PRODUCT:

BY

NOQ! DATE

REVISIONS

OATE: 4/08/13

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—16092.8

SHEET 2 OoF 6

© 2013 R.W. BLUILDING CONSLILTANTS ING .



‘ON| BLNVLITINENDD SNIQTINE "M'YH ELOZE G

60PEF "ON "A'd ‘IPILYIS "4 uopukl SNOISIAZY
. . SNOILDIS 5S040 o
£revh ety WOLLYIA A S e (S AR D
¢186 "oN ‘lonpzuoyiny JO 210010 ]
sisoubul |DUOCISSS}0I4 JO PIDOE DPLOL SATENESSY ¥O Lavd WTNI - . m &
LBLE'BSO'CLR 'ON BuUOUg ~ . 2= 34
CESTE M4 ODHIDA OCZ xo8 O'd \Sv@h N o &2 :_L
ONE 'SINVLINSNGD ONITING S3lH3S 0088 g m R
Ag peandeld SjUsLINDOG 113NA0Yd B IHE m &
- o UdAl) ana
{'dAL) 'gwa ) (&) NIW /-1
NIW P/ E-L ™~ \
by < M~ —
O o o L) ~O M — — —
oY~ o) e o
N 2l & Z AN 3
B £ QO = ERIRE Q
« S = v (— s f .......u. >
.d v - . S L (721 m
: .. (7] - L7 1R
° s : NS vy =W Ll e | O
.. \ = o d I~ / . O m
) [ .W e a2l O
O - S (&) b
: 3 = ——t m = e -l &
| | m— R < W
¥ . 8] z E ¥ Y v C o
¥ g j e —- <
ot [] / * oz 2 T oy - ol 2
R w2 S w0
B = i RSN SIS
c 0 i} C_/ T e
o mu o mv
& L o~
w S -
— @© - un
T
el
0 $3
- ml.m
, 23
= mrm
e >
('dAl) ‘gwa _
- o [dAll aw3 S NIW F/ 1L
.2—2 :.?\_.l_. o~
&) o))~ L) (=) (=) ()=
27
(3] I~ L
A - . [l — 0 m M m m \’vl«\
o v < E VL oo o
o a e N . . ._.ve
S Bae m
. Al -9 - c
< . 1k
o< o \ - L= / o v, E &
k. - ,A.n‘ = h " 23 "\bﬂ e
o p: Ol
X s o o) ] o - . o ire
9 E [ . C e
g ) - |
oo 0 e / = Ty 0 d 3 nA.u 3
o = - =<
. ] i . 5id
> M . V mv
o
o]
% —|e
w
® R =@
w — o
© OO @O @ S

8'€ ‘BMP'E-£ Z609T-14\BPIS [BIUOZHOH\GLST Jd\OOLT - T09T foud\siapiod 1pafoig\sisafosd - vvy



RMA - Projects\Project Folders\Proj 1601 - 170(\PF 1679\Horizontal Slider\FL-16092.7-9.dwg, 4.8

MEETING STILE
v )
E) (TYP'} 4 (e —
L e T / (WP.)”T |
a.“'.v .| e— - I 1 T
'.-.‘-;__‘l T3 S5 1
S I i |
"’ ' [ li . E_"
. I I ~E
PPN [ [ {TYP)
s H [ o
2X I H
BUCK 1 K
N 1 1
MASONRY |
OPENING I: H
i | I L
e I i
. I I gY
L I I
g T, ly VO iy 1
3 | - - - 1 | | | | 1 | | 1 1
BUCK ANCHORING
CONCRETE ANCHOR NOTES:

1. Substitution of equal concrete aonchors from a different suppfier meay have
different edge distance and cenfer distance requirements.

2. Concrete anchor locations at the corners may be adjusted to maintain
the min. edge distance to mortar joints. If concrete anchor locations
noted as "MAX. ON CENTER" must be adjusted fo maintain the min. edge
distance fo mortar joints, additional concrete anchors may be required to
ensure the "MAX. ON CENTER" dimensions are not exceeded.

3. Concrete anchor fable:

nmw /4" 1-1/4" 2-1/2" 3

EI—CO 1!4" -I_«l/ v 1“ 4“

e

~—7

e e

30.LC.

MEETIN
3

45
(PP Ai ‘[‘ (TYP} ”1 YR

G STILE

55"

| 12 |
H (TYP. @ HEAD) {
— | { F )2XBUCK il _ I
)
@ 2XBUCK 11 1Y ixeuck I o BUCK o
ixeuck 1 DIRECTTO 1 5
orecito || \K) masonry I 1X BUCK 2
MAsONRY || (TYP.@ [} DIRECT TO g
(vp. @ |; HEAD) MASONRY = -
JAMB) I
|1
¥
- I _
[ 1 | |
. rd H———
ot f‘”,‘ sk ™ (T‘YP]
7.5 (TYP)
FRAME ANCHORING

Yoeeds

813.659.9197
Floride Board of Professional Engineers
thorization No. 9813

Certificate Ofﬁu

P.Q. Box 230 Valrico Fl. 33585

BUILDING CONSULTANTS, INC.

Phone No.:

Docurnents Prepared By:

Lyndon F. Schmidt, P.E. MNo. 43409

8800 SERIES
BUCK AND
FRAME ANCHORING

PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NOJ| DATE

DATE: 4,/08/13

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—16092.8

SHEET _4 OF _6

© 20713 R.W., BUILDING CONSULTANTS ING.



RMA - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Horizontal Slider\FL-16092.7-9.dwg, 5.8

204

- 1 9" ww—Hﬁw—-—-{
L_J

( : ) SLIDER PULL STILE

I*-— 1.9 ;g—-}

D —=p=—0.07"

!

— 142"

( : ) KEEPER STILE

1.24"

4

06"
0

@EML%

-»’ I<—O.E9"
0

REINFORCEMENT
Common Rail

( : ) LOCK STILE

r-v 0.45
0.06"

( : ) GLAZING BEAD

0.82"
0.89"

1.22 -—1

0‘] 3"

(: :) REINFORCEMENT
lLock Stile

|<— 1.79" ——-l

e 1.42" —=

|
—1
B! } ![i

P~
<
an]

]

@ SLIDER COMMON RAIL

F* 1.03"

. REINFORCEMENT
Keeper and Pull Stile

2.4¢"

H
[ it it
J=ml i i
\ i J
L —
g IFEEEAF arTT
%:# il il |:
! ho i
S S T
= L R

| _—1 AF36 {1-1/2" Brick Mould)

. © i i i
o=
: | |
o TR | S
LN A

‘;IJ ] li i

i " 1f |:
L‘""""J_L-__:::JL-‘J

LE] R { mfuv

SILL TRACK
Full width

0.61"

31:

P
o

i

@ SLIDER SASH RETAINING CliP

AF5% (Masonry Flange 1)

V672 {Masonry Flange 2)

I}
a £ =0
n o ~
g 1 gr_’ .
Zn 'atﬂ”
—.r\Cm&
w'E.J?_"‘-'d .
Eo2%52 J
L 0o c
~ETW0n ¢L
J g p8
A>m e
Zow 5T
. O W =
& o of
-t
oxgu-:!
O >0 [
P ERe g
o 3 .c QO
S e
@ 2~ L 0g
D_ED&D.EB-E
o
2 g%g
c Tt
@ e o
P
3
0
[+]
[m]

Lyndon F. Schmidt, P.E. No. 43409

OPTIONAL COSMETIC FLANGES

0.3

|4—»— 0.7"
(: :) HEAD TRACK
& Llong

-—1.14" —

121" —=]

| |— 037"

~=—0.09"

j— 0.09" ———-| }<~

~

0.08"

0.67"

. FLANKER STOP

8800 SERIES
COMPONENTS

PART OR ASSEMBLY:

PRODUCT:

BY

NOJ DATE

REVISIONS

DATE: 4,/08/13

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LES

DRAWING NO.:

FL—16082.8

SHEET 5 oF 6

© 2013 R.W. BUILDING CONSULTANTS INC.



RMA - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Horizontal Slider\FL-16092.7-9.dwg, 6.8

BILL OF MATERIALS
MEM # | DESCRIFTION MATERIAL

A 1X BUCK 3G >= (.55 wOOoD
B 2X BUCK $G >=0.55 WOQD
C 1/4" MAX. SHIM SPACE -

D 1/4" X 2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL
E MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F #10 X 3" PPH WOOD SCREW STEEL
G #10 X 1-3/4" PPH WOOD SCREW STEEL
H #10 X 2-1/2" PPH WOOD SCREW STEEL
J 1/4" X 2-1/4" [TW CONCRETE SCREW STEEL
K 1/4" X 3-1/4" [TW CONCRETE SCREW STEEL
L 1/4" X 3-3/4' TW CONCRETE SCREW STEEL
| FRAME* PVC
2 SLIDER PULL STILE* PVC
3 LOCK STILE* PVC
4 KEEPER STILE* PVC
5 GLAZING BEAD* PVC
6 SLIDER COMMON RAIL* PVC
7 BALL BEARING ROLLER -

8 WEATHERSTRIP (0.230") -

9 WEATHERSTRIP (0.380") -

11 SILL TRACK ALUM
12 HEAD TRACK ALUM
14 SLIDE RAIL REINFORCEMENT ALUM
15 REINFORCEMENT ALUM
16 REINFORCEMENT ALUM
17 SLIDER SASH RETAINING CLIP ALUM
18 #8 X 1" PFH SM$ STEEL
19 FLANKER STOP NYLON
22 #8 X 5/8" (#6 head) PFH SMS STEEL

* THE APPROVED WHITE RIGID PYC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE PRODUCED BY

EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR RIGID PVC EXTRUSIONS".

1/2" GLASS

BTE | I&

/i

GLAZING DETAIL

1/2" GLASS
BITE 4‘ I* o
cJ 1|

4

NOVAFLEX M400
— 1" THICK GLASS

1/8" ANNEALED
0.090" SAFLEX® PVB INTERLAYER

1/8" ANNEALED
AIR SPACE

1/8" TEMPERED

INTERCEPT SPACER

¥/

N

GLAZING DETAIL

~

.

7

1" THICK GLASS

1/8" ANNEALED
0.090" DUPONT SENTRYGLAS® INTERLAYER

1/8" ANNEALED
AIR SPACE

1/8" TEMPERED

INYERCEPT SPACER

813.659.9197
SR

Florida Board of Professicnal Engineers

e

Authorizgtion No. 8813
Lyndon F. Schmidt, P.E. No. 43409

P.O. Box 230 Vairico FL, 33585

Documents Prepared By

BUILDING CONSULTANTS, INC.

Phone No.:

Certificate

8800 SERIES
BILL OF MATERIALS

& GLAZING DETAILS

PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NOJ DATE

oaTE: 4/08/13

SCALE:  N.T.5.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL—-16092.8

SHEET 6 ofF B

© 2013 R.W. BUILDING CONSULTANTS INC.



